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Read the passage given below. Answer the questions given under it by
choosing the correct option for each:

There is an old Brussels joke. How do you tell the difference between a British
official and a French one? The Briton says: "This idea works fine in theory but
will it work in practice?” The Frenchman says: "This idea works fine in
practice but will it work in theory?"

Some things are characteristically and eternally French: the odour of the Paris
Metro; the way they cultivate pessimism en masse and fling themselves
individually into their life-style; the taste of Roquefort cheese. There is also an
unmistakeable intellectual odour and taste in France: a style of the French
mind.

The French love abstraction. They love theorising. They adore universal
explanations. They value intellectuals. All French sixth-formers, even those
majoring in hairdressing, have to study philosophy. Beggars in France make
eloquent speeches when they seek a hand-out. French footballers often speak
lucidly on TV. They are seldom as sick as a parrot. The French — or some of
the French — dislike the anti-intellectual. market-driven world created by their
old Anglo-Saxon shopkeeper enemies. There are unsurprisingly allegations
that the French are an "arrogant nation". and that the nation suffers from an
intellectual superiority complex.

The French like to construct a theory and then use it to explain the facts; the
British and others like to examine the facts and then construct theories. Why
do the French think differently? The phenomenon can be traced to the eureka
moment of the great 17th-century philosopher-mathematician Descartes. By
concluding that the only certainty was the consciousness of the individual — "I
think, therefore I am" — Descartes created one strand of the modern. humanist
intellectual tradition. The other strand was the "empiricist” British line of
Hobbes. Locke and Hume.

The British thinkers believed in starting with observable facts: Descartes
believed the human senses — of touch or sight or smell — were unreliable. He
trusted only the reasoning capacity of the mind. The second founding father of
the French intellectual tradition was Rousseau. His utopian vision directly
influenced the French Revolution and later French theorists of both Left and
Right. Those political definitions were themselves a typically "binary" French
invention. Despite the importance afforded to theoretical constructs. the "basic
structure” of the secular French state is inviolable. For that reason. a Muslim
girl wearing a headscarf in a state school is a threat to the survival of the
Republic.

Sub questions

Question Number : 1 Question Id : 7368156870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An appropriate title for the passage is

Options:

, % The British Trader and the French Philosopher

- % TheFrench Superiority Complex



5 % Why do the French love theories and reasoning?

4 + The Rational French vs. the Empirical Anglo-Saxon

Question Number : 2 Question Id : 7368156871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which of the following is the French NVOT different from others?

Options:
1 % Their love for abstraction
> % Their ‘superiority complex’

- % [Their special fondness for rationalism

4  Their faith in their secular republic

Question Number : 3 Question Id : 7368156872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer notes: ‘Some things are characteristically and eternally French’ and gives the
examples of ‘the odour of the Paris Metro” and ‘the taste of Roquefort cheese’:

Options:
, % While the ‘odour” is uncomplimentary. the ‘taste’ is complimentary.
> % the odour and the taste are two ends of any culture.

- % Dboth are common examples and have similar functions.

, « these are regular symbols of the French culture

Question Number : 4 Question Id : 7368156873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The passage mentions Rousseau and his Utopian vision. ‘Utopian’ refers to an
ideal society. Both the French Right and the French Left

Options:
1 % understood in his vision

- % quarrelled about his vision
= % were born of his vision

4 « shared his vision

Question Number : 5 Question Id : 7368156874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to the writer, the French do not

Options:
| « construct explanations before locating problems

» % Wworry about theorizing and about reality
- % have an understanding of reality

4 % approach reality with an open mind



Question Number : 6 Question Id : 7368156875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Descartes trusted only the deduction capacity of the mind.” This means
Options:

 ® What we see is real: what we understand is not real

> % What we see is what we see: but what we understand of it is reality
5 % what we see is an illusion; what the mind sees is real

4  What we see can dupe us: the mind has to judge it and accept or reject it

Question Number : 7 Question Id : 7368156876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A style of the mind that is eternally French is NOT seen in the following:
Options:

, = Avoiding premeditated replies.

- % making eloquent speeches
- % liking the market-driven-world and making no money

4 « disliking the market-driven world but making money

Question Number : 8 Question Id : 7368156877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The British and others like to examine the facts and then construct theories because
Options:

1 They follow the "empiricist" British line of Hobbes, Locke and Hume.

> % they started with facts and not with theories
5 » they were shopkeepers. living in a market-driven world
, % they did not have the French powers of logic

Question Number : 9 Question Id : 7368156878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The difference between a British official and French one 1s mainly about
Options:

, = significance allowed to practice

-  significance allowed to theory

5 % how to make money

, = Why secularism is important

Question Number : 10 Question Id : 7368156879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘For that reason. a Muslim girl wearing a headscarf in a state school is a threat to the
survival of the Republic.” — What is that reason?



Options:
1 # France is a nation of intellectuals

-~ % French citizens consider theory superior to practice.

The French fondness for theories and concepts does not affect their understanding of a
- % state.

4  France 1s a secular republic and any fundamental practice might affect it negatively

Question Number : 11 Question Id : 7368156880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The writer asserts, ‘the nation suffers from an intellectual superiority complex.” “Suffer
from is used describe

Options:

, % agood quality

> % abad quality

5 « aneed or a want

4 % adisease and its effects

Question Number : 12 Question Id : 7368156881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Eureka is an exclamation used to celebrate a discovery or invention. The writer here uses
this as an adjective to

Options:

, w celebrate the discovery of Descartes

> % make fun of Descartes’s moment of discovery.

- » indicate how great a discovery is "I think. therefore I am" !

4  Show off the writer’s knowledge of history

Question Number : 13 Question Id : 7368156882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The antonym of ‘survival® as used by the writer here is
Options:

1« extinction

o ® EXpiry
3 % absence

4 % lifeless

Question Number : 14 Question Id : 7368156883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Abstraction refers to an abstract idea here. A synonym for this term is
Options:

, % Opinion



o  concept
5 x theory

4 % thought

Question Number : 15 Question Id : 7368156884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An antonym of universal is
Options:

1 « local

> % Specific

- % particular

4 % special

Question Id : 7368156869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (1to 15)
Cesticn Label | Comprehension



Read the passage given below. Answer the questions given under

it by choosing the correct oplion for each;

There i= an old Brusssls joke. How do you tell the difference
betwean a British official and a French one? The Briton says: "This
idea waorks fine in theory buf will it work in practice™ The
Frenchman 3aya: “This idea works fing in practice but will it work
in theory?™

Some things are charactenstically and eternally French: the odour
of the Pars Metro; the way they cultivate pessimism &n masse and
fling themselres individually into their life-style; the taste of
Roguefort cheess. Thers is also an unmistakeable intsllectual odour
and taste in France; a style of the French mind.

The French love abatraction. They love theorising. They adore
univeraal explanationsa. They value intellectuals. All French sixth-
formera, even thoae majonng in hairdreasing, have to atudy
philosophy. Beggars in France make eloquent speaches when they
seek a hand-out. French footballers often speak lucidly on TV.
They are seldom as sick as a parmot. The French - or some of the
French - dislike the anti-intellectual, market-driven world created by
their old Anglo-Saxon shopkesper snemies. There are unsurprisingly
allegations that the French are an "arrogant nation”, and that the
nation suffers from an intellectual superiority complex.

The French like to construct a theory and then use it to explain the
facts; the British and others like to examine the facts and then
construct theores. Why do the French think differently? The

phenomenon can be traced to the eurska moment of the great

17th-century philosopher-mathematician Dezcartes. By concluding
that the only certainty was the consciousneas of the individual - "l
think, therefore | am" - Descarles created one sirand of the
modern, humanist intellectual tradition. The other sirand was the
"empiricist” British line of Hobbes, Locke and Hume.

The British thinkers belisved in starting with observable facts;
Descartes belisved the human senses - of touch or sight or smell -
were unreliable. He trusted only the reasoning capacity of the mind.
The second founding father of the French intellectual tradition was
Rousaeau. His utopian vision directly influenced the French
Revolution and later French theorists of both Left and Right. Those
palitical definitions wers themaeh'es a typically “binary” French
invention, Despite the importance afforded to theorstical constructs,
the “basic structure™ of the secular French state is inviclable. For
that reason, a Muslim girl wearing a headscarf in a state school is

a threat to the survival of the Republic.



Sub questions

Question Number : 1 Question Id : 7368156870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An appropriate title for the passage is

Options:

, = The British Trader and the French Philosopher

- % The French Superiority Complex

- » Why do the French love theories and reasoning?

4 w The Rational French vs. the Empirical Anglo-Saxon

Question Number : 2 Question Id : 7368156871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In which of the following is the French NOT different from others?
Options:

1 = Their love for abstraction

- » Their ‘superiority complex’

- » Their special fondness for rationalism

4 « Their faith in their secular republic

Question Number : 3 Question Id : 7368156872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer notes: ‘Some things are characteristically and eternally French’

and gives the examples of ‘the odour of the Paris Metro’ and ‘the taste of

Roquefort cheese’:
Options:
, = While the ‘odour’ is uncomplimentary, the ‘taste’ is complimentary.

- » the odour and the taste are two ends of any culture.

- » both are common examples and have similar functions.

4,  these are regular symbols of the French culture
Question Number : 4 Question Id : 7368156873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The passage mentions Rousseau and his Utopian vision. ‘Utopian’ refers

to an ideal society. Both the French Right and the French Left
Options:
1 % understood in his vision

- % quarrelled about his vision

= % were born of his vision

4 « shared his vision



Question Number : 5 Question Id : 7368156874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to the writer, the French do not
Options:

, « construct explanations before locating problems

. » Wworry about theorizing and about reality

- » have an understanding of reality

, » approach reality with an open mind

Question Number : 6 Question Id : 7368156875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Descartes trusted only the deduction capacity of the mind.” This means
Options:

, » What we see is real; what we understand is not real

, » What we see is what we see; but what we understand of it is reality
- » What we see is an illusion; what the mind sees is real

what we see can dupe us; the mind has to judge it and accept or reject

4 @ It

Question Number : 7 Question Id : 7368156876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A style of the mind that is eternally French is NOT seen in the following:
Options:

. » avoiding premeditated replies.

» » Mmaking eloquent speeches

- w» liking the market-driven-world and making no money

4  disliking the market-driven world but making money

Question Number : 8 Question Id : 7368156877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The British and others like to examine the facts and then construct

theories because
Options:
, « they follow the "empiricist” British line of Hobbes, Locke and Hume.

. » they started with facts and not with theories

- » they were shopkeepers, living in a market-driven world

, » they did not have the French powers of logic

Question Number : 9 Question Id : 7368156878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
The difference between a British official and French one is mainly about

Options:
, = significance allowed to practice

.  Significance allowed to theory
- » how to make money

4 % Why secularism is important

Question Number : 10 Question Id : 7368156879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘For that reason, a Muslim girl wearing a headscarf in a state school is a
threat to the survival of the Republic.’" - What is that reason?

Options:

, # France is a nation of intellectuals

. » French citizens consider theory superior to practice.

The French fondness for theories and concepts does not affect their

understanding of a state.

France is a secular republic and any fundamental practice might affect it
4,  hegatively

Question Number : 11 Question Id : 7368156880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The writer asserts, ‘the nation suffers from an intellectual superiority
complex.” ‘Suffer from is used describe

Options:

, = @ good quality

-, » a bad quality

=z « a need or a want

4 % a disease and its effects

Question Number : 12 Question Id : 7368156881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Eureka is an exclamation used to celebrate a discovery or invention. The

writer here uses this as an adjective to
Options:
, = celebrate the discovery of Descartes

, » make fun of Descartes's moment of discovery.

- » Indicate how great a discovery is "l think, therefore | am" !



4  Show off the writer's knowledge of history

Question Number : 13 Question Id : 7368156882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The antonym of ‘survival’ as used by the writer here is

Options:

1 « extinction
- u EXpIry

- % absence

4 % lifeless

Question Number : 14 Question Id : 7368156883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Abstraction refers to an abstract idea here. A synonym for this term is

Options:
, = Opinion

-  concept
- » theory

, » thought

Question Number : 15 Question Id : 7368156884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An antonym of universal is
Options:
1 « local

. » Specific
- » Pparticular

4 » Special

Sub-Section Number: 2
Sub-Section Id: 736815204
Question Shuffling Allowed : No

Question Id : 7368156885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (16 to 30)
Cuesticon Label | Comprehension



Read the passage given below carefully. There are 15 blanks in it. Each blank is numbered
sequentially from 16 to 30. Choose from the 4 options given for each blank the most
appropriate one that would fill the gap:

More intimate than underpants precisely because they are plain for all to see. eyeglasses
are no mere detail of costume. Acting as a mask that fuses with the features.
(16) serve as a spotlight or a stage for the (17) m the theater of everyday life.
The (18) face by telling the world something about (19) 1t 1s seen,
asks the world to see it in a (20) way. Practical people. choosing the
(21) square frames declare their contentment with presenting the (22)

of a neutral perspective. But glasses have (23) progressed from strictly
practical visual aids to become (24) m themselves. The dominant models of
the present (25) are “library glasses.” with big lenses mounted in (26)
plastic frames made of cellulose acetate. On the (27) of a fashion executive about
town. such glasses 28) party photographers to ignore glances designed to be

(29). In postgame mterviews. basketball stars flash frames that, (30)
fitted with prescription lenses or nonprescription lenses or no lenses at all, broadcast an
eagerness to discuss strategy.

Sub questions

Question Number : 16 Question Id : 7368156886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

| glasses

5 % caps
3 # hats
4, % earpieces

Question Number : 17 Question Id : 7368156887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % head

> % heart
- x body

4 « soul

Question Number : 18 Question Id : 7368156888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:



1 % bewildered
> % bejeweled

-  bespectacled

4 % Dbesotted

Question Number : 19 Question Id : 7368156889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 #® Wwhen

> % where
5 % what

4 « how

Question Number : 20 Question Id : 7368156890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 « similar

o #% same

= % different

4 % funny

Question Number : 21 Question Id : 7368156891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % usnal

o of unassmning

3 % fixed

4 % ordered

Question Number : 22 Question Id : 7368156892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % allusion

5 # Vision



= ¥ revision
4 « illusion

Question Number : 23 Question Id : 7368156893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

, % Improbably

o o Steadily

- % robustly
4 % strongly

Question Number : 24 Question Id : 7368156894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap.

Options:

, » glasses

> % €Yes

5 % sights

4 spectacles

Question Number : 25 Question Id : 7368156895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

|« day

> % week
=z % month

4 % year

Question Number : 26 Question Id : 7368156896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % audacious

- % intrepid

= « bold



4 % loud

Question Number : 27 Question Id : 7368156897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

. % €yes

> « face
% % mouth

4 % forehead

Question Number : 28 Question Id : 7368156898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap.

Options:

, « Cchallenge

> % lgnore

5 ® see
4 ¥ View

Question Number : 29 Question Id : 7368156899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % heard

> % tasted

o o captured

4 % felt

Question Number : 30 Question Id : 7368156900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank. the most appropriate one that would fill the
gap:

Options:

1 % weather

> « Whether
3 % where

4 % Wwhence

Question Id : 7368156885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No



Question Numbers: (16 to 30)
Juestion Label - Comprehension

Read the passage given below carefully. There are 15 blanks in it
Each blank is numbered sequentially from 16 to 30. Choose from
the 4 options given for each blank the most appropriate one that
would fill the gap:

More intimate than underpants precisely because they are plain for
all to see, eyeglasses are no mere detail of costume. Acting as a

mask that fuses with the features, (16) serve as a

spotlight or a stage for the (17) in the theater of
everyday life. The (18) face by telling the world

something about (19) it is seen, asks the world to see it in

a (20) way. Practical people, choosing the

(21) square frames declare their contentment with

presenting the (22) of a neutral perspective. But glasses
have (23) progressed from strictly practical visual aids
to become (24) in themselves. The dominant models
of the present (25) are “library glasses,” with big lenses
mounted in (26) plastic frames made of cellulose acetate.
On the (27) of a fashion executive about town, such
glasses (28) party photographers to ignore glances
designed to be (29). In postgame interviews, basketball
stars flash frames that, (30) fitted with prescription

lenses or nonprescription lenses or no lenses at all, broadcast an
eagerness to discuss strategy.

Sub questions

Question Number : 16 Question Id : 7368156886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:
, « Ylasses

o ® Caps

2 ¥ hats



4 » €arpieces

Question Number : 17 Question Id : 7368156887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % head

> % heart

- » body

4 « soul

Question Number : 18 Question Id : 7368156888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % bewildered

. » bejeweled
-  bespectacled

4 % besotted

Question Number : 19 Question Id : 7368156889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % when

- #% where

= % what

4 « how

Question Number : 20 Question Id : 7368156890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:

1 « similar

> % same

2 % different



4 = funny

Question Number : 21 Question Id : 7368156891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % usual

-  unassuming

z % fixed

4 % ordered

Question Number : 22 Question Id : 7368156892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % allusion

- % Vvision

= % revision

4 + illusion

Question Number : 23 Question Id : 7368156893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

, = improbably

.  Steadily

- » robustly

4 = Strongly

Question Number : 24 Question Id : 7368156894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:
, = Ylasses

o % €Yyes

5 » Sights



4  Spectacles

Question Number : 25 Question Id : 7368156895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:
| v day

> # week

=z % month

4 ® year

Question Number : 26 Question Id : 7368156896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:

1 % audacious

- w intrepid

= « bold

4 % loud

Question Number : 27 Question Id : 7368156897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:

| % €yes

> « face

= % mouth

4 # forehead

Question Number : 28 Question Id : 7368156898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:
|  Challenge

5 % ighore

= % Ssee



4 ® View

Question Number : 29 Question Id : 7368156899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the 4 options given for the blank, the most appropriate one
that would fill the gap:

Options:

1 % heard

- % tasted

-  Captured

4 % felt

Question Number : 30 Question Id : 7368156900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the 4 options given for the blank, the most appropriate one

that would fill the gap:
Options:
1 % weather

> « Whether
= % Where

4 % whence

Sub-Section Number: 3
Sub-Section Id: 736815205
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 7368156901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given:

1. If quick research and the analysis of information is encouraged and used in the

workplace, then it would be wiser to duplicate these techniques in our exams.

Furthermore. a ‘spoken exam” would allow students to engage in thoughtful

discussion with the examiner. demonstrating communicative skills

3. No job demands people to memorise swathes of information and then attempt to
structure this information onto a page in an incredibly narrow time-window

4. The current exam model equates intelligence with writing and memory. when this is

simply not true.

The classic ‘written exam’. despite being the most common and longstanding

method of testing. clearly doesn't stem from realistic demands of the workplace.

[

Lh

Options:



| @ 45.3.1.2
o 8 45213
5 % 432,15
4 % 41235

Question Number : 31 Question Id : 7368156901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of 5 sentences, neither in a meaningful nor in a

coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given:

1. If quick research and the analysis of information is encouraged and
used in the workplace, then it would be wiser to duplicate these
techniques in our exams.

2. Furthermore, a 'spoken exam’ would allow students to engage in
thoughtful discussion with the examiner, demonsirating communicative
skills

3. No job demands people to memorise swathes of information and then
attempt to structure this information onto a page in an incredibly
harrow time-window

4. The current exam model equates intelligence with writing and
memory, when this is simply not true.

The classic ‘written exam’, despite being the most common and
longstanding method of testing, clearly doesn't stem from realistic demands

of the workplace.

Options:
, o 45812

> % 492,13
- & 432,15
E 4:1:2!3:5

Question Number : 32 Question Id : 7368156902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a
coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given:

1. That data, from public and private organisations alike, will allow
businesses and governments to make better decisions and for
citizens to be better informed.

2. Some applications will be vast city-wide initiatives, others small and
localised.

3. Key to this is the ability to collect, collate and share data in the
public domain.

4.1t is this pooling of data that lies behind smart innovation

A smart city is one that uses digital communication to enhance services

and performance.

Options:

. w 53214
5 52124
o 4324
oz BA423

Question Number : 32 Question Id : 7368156902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given:

1. That data. from public and private organisations alike, will allow businesses and
governments to make better decisions and for citizens to be better informed.
Some applications will be vast city-wide initiatives. others small and localised.
Key to this 1s the ability to collect, collate and share data in the public domain.
It is this pooling of data that lies behind smart innovation

A smart city is one that uses digital communication to enhance services and
performance.

W 1

Lt A

Options:
. % 53214

> o 5.3.1.2.4
o A8

4 % 51423



Question Number : 33 Question Id : 7368156903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given:

1. Workers who have trouble concentrating on a daily basis may be intellectually

superior to their colleagues, according to a new study.

Finding yvourself easily distracted at work may sound like a bad thing but there

could be a silver lining to your daily office woes.

3. The cleverest workers find it difficult to prioritise which idea to focus on first. with
the distractions potentially leading to “a feeling of inadequacy and inability to deal
with the workload as a whole™,

4. The brightest brains can end up falling short of their own expectations and also of

what their boss expects.

Intelligent people may find it difficult to focus the mind because of all the amazing

ideas constantly running through their genius brains, the research suggests.

=

L

Options:
. % 53,124

o o 21534

2 % 2,1,54.3

I-2

% E2EA

Question Number : 33 Question Id : 7368156903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a
coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given:

1. Workers who have trouble concentrating on a daily basis may be
intellectually superior to their colleagues, according to a new study.

2. Finding yourself easily distracted at work may sound like a bad thing
but there could be a silver lining to your daily office woes.

3. The cleverest workers find it difficult to prioritise which idea to focus
on first, with the distractions potentially leading to “a feeling of
inadequacy and inability to deal with the workload as a whole”,

4. The brightest brains can end up falling short of their own
expectations and also of what their boss expects.

Intelligent people may find it difficult to focus the mind because of all the
amazing ideas constantly running through their genius brains, the research

suggests.
Options:

.= 531,24
5 ¢ 2,1,5,34
wn ZI543
o B2BA

Question Number : 34 Question Id : 7368156904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.

These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given:

1. Aggressive, competitive and results-obsessed digital immigrants are goal oriented as

opposed to the value orientation of the digital natives.

Digital natives are free agents who view the world horizontally in equalitarian

terms, spurn hierarchies and are driven by values.

3. Large-scale projects that need vertical organization require goal-oriented, focused
people who would largely come from the culture of digital immigrants which is a
meritocracy.

4. People born during or after the rise of digital technologies are called digital natives

and those born before the advent of digital technology. digital immigrants.

There exists a generational gap between the digital natives and the digital

immigrants which doesn’t have to do with technology but two different world

Views.

=

L

Options:
L o 452,13

> ® 4.3.2,1,5
5 x 4.5.1,2.3

4 41235

Question Number : 34 Question Id : 7368156904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a
coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given:

1. Aggressive, competitive and results-obsessed digital immigrants are
goal oriented as opposed to the value orientation of the digital
natives.

2. Digital natives are free agents who view the world horizontally in
egualitarian terms, spurn hierarchies and are driven by values.

3. Large-scale projects that need vertical organization require goal-
oriented, focused people who would largely come from the culture of
digital immigrants which is a meritocracy.

4. People born during or after the rise of digital technologies are called
digital natives and those born before the advent of digital technology,
digital immigrants.

5. There exists a generational gap between the digital natives and the
digital immigrants which doesn't have to do with technology but two

different world views.
Options:

L ¢ 45213
53 ABZAB
- n 451,23
on 41235

Question Number : 35 Question Id : 7368156905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given:

1. Choral performances continued to dominate the early plays until the advent of the

5th century BC but soon got reduced to a mainly commentarial role.

The chorus in Classical Greek drama was a group of actors [as opposed to

individual actors] who described and commented upon the main action of a play

with song. dance. and recitation.

3. The judgment of the chorus is the verdict of history on the actions and the tragic
consequences of the polity

4. While the tragic protagonists act out their defiance of the limits subscribed by the

gods for man, the chorus expresses the fears and hopes of the average citizens.

The distinction between the passivity of the chorus and the activity of the actors is

central to the artistry of the Greek tragedies.

=

L

Options:
| % 23451

> % 2,3.5,14
2 o 21,543
L & 25431

Question Number : 35 Question Id : 7368156905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of 5 sentences, neither in a meaningful nor in a
coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given:

1. Choral performances continued to dominate the early plays until the
advent of the 5th century BC but soon got reduced to a mainly
commentarial role.

2. The chorus in Classical Greek drama was a group of actors [as
opposed to individual actors] who described and commented upon
the main action of a play with song, dance, and recitation.

3. The judgment of the chorus is the verdict of history on the actions
and the tragic consequences of the polity

4. While the tragic protagonists act out their defiance of the limits
subscribed by the gods for man, the chorus expresses the fears and
hopes of the average citizens.

5. The distinction between the passivity of the chorus and the activity of the

actors is central to the artistry of the Greek tragedies.

Options:

. » 23451
5 23514
. v 21543
. % 2,543

Question Number : 36 Question Id : 7368156906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below are the words of famous one liner. broken info segments. and given in a
jumbled manner. When the segments are arranged properly. they will make sense. These
segments are numbered from 1. Identify the correct sequence of numbers from the options
given: {Make sure that the reordered sentence would appeal to the reader}:

people / falling in love / responsible for/ is not / gravitation
1 2 3 4 5

Options:

; % 33214

- u 35,1234

5 « 3.4.3.1.2

4% 54321



Question Number : 36 Question Id : 7368156906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are the words of famous one liner, broken into segments,

and given in a jumbled manner. When the segments are arranged
properly, they will make sense. These segments are numbered from 1.
Identify the correct sequence of numbers from the options given: {Make
sure that the reordered sentence would appeal to the reader}:

people / falling in love / responsible for/ is not / gravitation
1 2 3 4 5

Options:

.= 53214
o n D1 234
- v 543,12
o BABZ

Question Number : 37 Question Id : 7368156907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below are the words of famous one liner. broken into segments. and given in a
jumbled manner. When the segments are arranged properly. they will make sense. These
segments are numberad from 1. Identify the correct sequence of numbers from the options
given: {Make sure that the reordered sentence would appeal to the reader}:

friendship/while / is an art of keeping distance / is an art of intimacy/ love
1 2 3 4 3
Options:
1 % 33214

» ¢ 1.3.2.5.4
o % LASAS
4 % 53421

Question Number : 37 Question Id : 7368156907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below are the words of famous one liner, broken into segments,
and given in a jumbled manner. When the segments are arranged

properly, they will make sense. These segments are numbered from 1.
Identify the correct sequence of numbers from the options given: {Make

sure that the reordered sentence would appeal to the reader}:

friendship / while / is an art of keeping distance / is an art of intimacy/ love

1 2 3 4 5]

Options:

. x 53244
, v 1,3254
n T2345
wou B2

Question Number : 38 Question Id : 7368156908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are the words of famous one liner. broken info segments. and given in a
jumbled manner. When the segments are arranged properly. they will make sense. These
segments are numbered from 1. Identify the correct sequence of numbers from the options
given: {Make sure that the reordered sentence would appeal to the reader}:

father/ breed/ evidence/ wishes/ thought, but they don’t
1 2 3 4 5

Options:
, % 45123

o o A1,52,3
5 % 41253
4 % 43215

Question Number : 38 Question Id : 7368156908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below are the words of famous one liner, broken into segments,
and given in a jumbled manner. When the segments are arranged
properly, they will make sense. These segments are numbered from 1.
Ildentify the correct sequence of numbers from the options given: {Make
sure that the reordered sentence would appeal to the reader}:

father/ breed/ evidence/ wishes/ thought, but they don’t
1 2 3 4 o

Options:

. u 451,23
5 ¢ 41523
wou AT 253
o ABZAPB

Question Number : 39 Question Id : 7368156909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below are the words of famous one liner. broken into segments. and given in a
jumbled manner. When the segments are arranged properly. they will make sense. These
segments are nunbered from 1. Identify the correct sequence of numbers from the options
given: {Make sure that the reordered sentence would appeal to the reader}:

memory/ conscience/ is usually the sign of / a clear/ a bad
1 2 3 4 5

Options:
|« 42351

o i A
o % LEZAS

4% 54321

Question Number : 39 Question Id : 7368156909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below are the words of famous one liner, broken into segments,
and given in a jumbled manner. When the segments are arranged
properly, they will make sense. These segments are numbered from 1.
Identify the correct sequence of numbers from the options given: {Make
sure that the reordered sentence would appeal to the reader}:

memory / conscience/ is usually the sign of / a clear/ a bad
1 7 3 4 5

Options:

¢ 4235,
< n BZAA
oz 12345
o BAE2

Question Number : 40 Question Id : 7368156910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are the words of famous one liner. broken info segments. and given in a
jumbled manner. When the segments are arranged properly. they will make sense. These
segments are numbered from 1. Identify the correct sequence of numbers from the options
given: {Make sure that the reordered sentence would appeal to the reader}:

more patience/ fortune/ misfortune’ knocks but once, but / has much
1 2 3 4 5

Options:
| % 23451

o ot ZABE
- % BA2SE]
o % 35124

Question Number : 40 Question Id : 7368156910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below are the words of famous one liner, broken into segments,
and given in a jumbled manner. When the segments are arranged
properly, they will make sense. These segments are numbered from 1.
Identify the correct sequence of numbers from the options given: {Make
sure that the reordered sentence would appeal to the reader}:

more patience/ fortune/ misfortune/ knocks but once, but / has much
1 2 3 < 5

Options:

. » 23451
5 2,435
. x 3425
ox 35424

Question Number : 41 Question Id : 7368156911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

Go is a rough 3,000 vears-old board game what originated in China.
Options:
,  Gois aroughly 3.000 year-old board game where originated in China.

o  Gois aroughly 3.000 year-old board game which originated in China.

- % Gois arough 3.000 years-old board game which originated in China.

4 % Gois aroughly 3.000 year-old board game which originates in China.

Question Number : 41 Question Id : 7368156911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

Go is a rough 3,000 years-old board game what originated in China.

Options:



, » Qo is a roughly 3,000 year-old board game where originated in China.
- « Qo is a roughly 3,000 year-old board game which originated in China.
- » Go is a rough 3,000 years-old board game which originated in China.

4 » Qo is a roughly 3,000 year-old board game which originates in China.

Question Number : 42 Question Id : 7368156912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

The rules in plaving Go has changed little above it’s long history.
Options:
, w Therules for playing Go have changed little over it’s long history.

> % Therules in playing Go had changed little over its long history.

- « Therules for playing Go have changed little over its long history.

, % Therule for playing Go have changed little over its long history.

Question Number : 42 Question Id : 7368156912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker
use. Choose the option which corrects the sentence completely:

The rules in playing Go has changed little above it's long history.
Options:
, = The rules for playing Go have changed little over it's long history.

- % The rules in playing Go had changed little over its long history.
- « 1he rules for playing Go have changed little over its long history.

4 » The rule for playing Go have changed little over its long history.

Question Number : 43 Question Id : 7368156913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

In parks cross East Asia, man huddled around Go boards are a commoner sight.
Options:

, = Inparks cross East Asia. men huddled around Go boards are a common sight.

_x_-' A P -- 4 i = [ I-I i -
-  In parks across East Asia. men huddled around Go boards is a common sight

. varks across East Asia. men huddled around Go boards are a commoner sight.
- » Inparks East A huddled 1 Go board aht

, = Inparks across East Asia. men huddled around Go boards are a common sight.

Question Number : 43 Question Id : 7368156913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker
use. Choose the option which corrects the sentence completely:

In parks cross East Asia, man huddled around Go boards are a

commoner sight.
Options:
In parks cross East Asia, men huddled around Go boards are a common

, = sight.

In parks across East Asia, men huddled around Go boards is a common
sight.

o
In parks across East Asia, men huddled around Go boards are a

5 » commoner sight.

In parks across East Asia, men huddled around Go boards are a common

4 = Sight.

Question Number : 44 Question Id : 7368156914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

Go features two plaver, one using black tiles and the two, white tiles.
Options:
, = Go features two player. one using black tiles and the other. white tiles.

-  Go features two players. one using black tiles and the other. white tiles.

- % Go features two players. one using black tiles and the another. white tiles.

, = Go features two players. one using black tiles and other. white tiles.

Question Number : 44 Question Id : 7368156914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker
use. Choose the option which corrects the sentence completely:

Go features two player, one using black tiles and the two, white tiles.
Options:

, » Qo features two player, one using black tiles and the other, white tiles.

-, « Qo features two players, one using black tiles and the other, white tiles.
- » Go features two players, one using black tiles and the another, white tiles.

, » Qo features two players, one using black tiles and other, white tiles.

Question Number : 45 Question Id : 7368156915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

The game began when plavers place their tiles in the board, each in their turn.
Options:

, w The game begins with players place their tiles in the board. each in their turn.

> % The game begun when players place their tiles on the board. each in his turn.

5 o The game begins when players place their tiles on the board. each in his turn.



4 % The game begins when players place their tiles in the board. each in his turn.

Question Number : 45 Question Id : 7368156915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

The game began when players place their tiles in the board, each in

their turn.
Options:
The game begins with players place their tiles in the board, each in their

1 ® turn.

The game begun when players place their tiles on the board, each in his
- % turn.

The game begins when players place their tiles on the board, each in his
3 « turn.

The game begins when players place their tiles in the board, each in his

4 % turn.

Question Number : 46 Question Id : 7368156916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

The player try to gained terrifory arranging stones in strategic shape or pattern.
Options:
1 The players try to gain territory by arranging stones in strategic shapes or patterns.

» % The players try to gain territory by arranging stones in strategic shape or pattern.

- % The player try to gain territory by arranging stones in strategic shapes or patterns.

4 % The players try to gain territory arrange stone in strategic shapes or patterns

Question Number : 46 Question Id : 7368156916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options
given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

The player try to gained territory arranging stones in strategic shape or

pattern.
Options:
The players try to gain territory by arranging stones in strategic shapes or

, « pattems.

The players try to gain territory by arranging stones in strategic shape or

- » pattemn.

The player try to gain territory by arranging stones in strategic shapes or

- » pattemns.

The players try to gain territory arrange stone in strategic shapes or

4 % patterns

Question Number : 47 Question Id : 7368156917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

Go is above getting controls of the opponent’s stones surrounding them on all side.
Options:
, » Go is above getting control of the opponent’s stones by surrounding them on all sides.

-  Gois about getting control of the opponent’s stones by surrounding them on all sides.
5 % Go is about getting controls of the opponent’s stones surrounding them on all sides.

4 % Gois about getting control of the opponent’s stones by surrounding them on sides.

Question Number : 47 Question Id : 7368156917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options
given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

Go is above getting controls of the opponent’s stones surrounding them

on all side.
Options:
Go is above getting control of the opponent’s stones by surrounding them

1 % on all sides.

Go is about getting control of the opponent's stones by surrounding them
> « onh all sides.

Go is about getting controls of the opponent’s stones surrounding them on
= % all sides.

Go is about getting control of the opponent's stones by surrounding them

4 % on sides.

Question Number : 48 Question Id : 7368156918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from gramunar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

As in chess, all the pieces in Go are the same, accepting on their colour.
Options:
, w Unlike in chess. all pieces in Go are the same. excepting in their colour.

> % Asinchess, all the pieces in Go are the same. except their colour.
-  Unlike in chess, all the pieces in Go are the same. except in their colour.

, % Unlike with chess. all the pieces in Go are the same. excepting in their colour.

Question Number : 48 Question Id : 7368156918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options
given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

As in chess, all the pieces in Go are the same, accepting on their

colour.
Options:
, = Unlike in chess, all pieces in Go are the same, excepting in their colour.

o » As in chess, all the pieces in Go are the same, except their colour.
-  Unlike in chess, all the pieces in Go are the same, except in their colour.

Unlike with chess, all the pieces in Go are the same, excepting in their

4 % colour.

Question Number : 49 Question Id : 7368156919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

Once a move is player, no stone cannot be moved latter around the board.
Options:
|« Onceamove is played. a stone cannot be moved later around the board.

- % Once amove is played. no stone cannot be moved later around the board.

- % Once amove is played. a stone cannot be moved latter around the board.

4 % Once amove is played. a stone cannot be moved later across the board.

Question Number : 49 Question Id : 7368156919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

Once a move is player, no stone cannot be moved latter around the
board.



Options:

. « Once a move is played, a stone cannot be moved later around the board.
Once a move is played, no stone cannot be moved later around the

> % board.
Once a move is played, a stone cannot be moved latter around the

= % board.

4, » Once a move is played, a stone cannot be moved later across the board.

Question Number : 50 Question Id : 7368156920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected versions of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

Chess have 20 possible opened moves, but in Go there is 361 possible ones.
Options:

, w Chess has 20 possible opened moves. but in Go there are 361 possible ones.

> % Chess has 20 possible opening moves, but in Go there is 36.
5 % Chess have 20 possible opening moves. but in Go there are 361 possible ones.

4 « Chess has 20 possible opening moves. but in Go there are 361 possible ones.

Question Number : 50 Question Id : 7368156920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected versions of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which corrects the sentence completely:

Chess have 20 possible opened moves, but in Go there is 361 possible

ones.
Options:
Chess has 20 possible opened moves, but in Go there are 361 possible

| % ones.

» » Chess has 20 possible opening moves, but in Go there is 36.

Chess have 20 possible opening moves, but in Go there are 361 possible

= % Ohes.



Chess has 20 possible opening moves, but in Go there are 361 possible

4 « Onhes.

Question Number : 51 Question Id : 7368156921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence

The bell was rung and the students were asked to disperse by the teacher. {Passive to
active voice}
Options:

, w The bell has rung and the teacher asked the students to disperse.

- % The bell had rung and the teacher asked the students to disperse.
-  Someone rang the bell and the teacher asked the students to disperse.

4 R We rang the bell and the teacher asked the students to disperse

Question Number : 51 Question Id : 7368156921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

The bell was rung and the students were asked to disperse by the

teacher. {Passive to active voice}
Options:
, = The bell has rung and the teacher asked the students to disperse.

. » The bell had rung and the teacher asked the students to disperse.
5 w Someone rang the bell and the teacher asked the students to disperse.

, » We rang the bell and the teacher asked the students to disperse

Question Number : 52 Question Id : 7368156922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

The Collector angrilv asked for some room and warned that otherwise he’d leave
that place. {Into direct sentences}



Options:
, w The Collector {to the public}: “Give me some room. If you don’t. I will leave this place.”

> % The Collector {to us}: “Give me some room. Otherwise. I'll leave this place.”
5 o The Collector {to the public}: “Give me some room. Otherwise. I will leave this place.”

, # The Collector {to the public}: “Give some room. If you don’t. I leave this place.”

Question Number : 52 Question Id : 7368156922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

The Collector angrily asked for some room and warned that otherwise

he’d leave that place. {Into direct sentences}
Options:
The Collector {to the public}: “Give me some room. If you don't, | will

, = leave this place.”

The Collector {to us}: “Give me some room. Otherwise, |'ll leave this

. » place.”

The Collector {to the public}: “Give me some room. Otherwise, | will leave
-  this place.”

The Collector {to the public}: “Give some room. If you don’t, | leave this

4 » place.”

Question Number : 53 Question Id : 7368156923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Being once bitten, I was twice shyv. {Rewrite as a complex sentence}
Options:
, # Iwas once bitten and so was twice shy.

-  AsIhad been bitten once. I was twice shy.
- % Having been bitten once. I was twice shy.

4 % When Ihad been bitten once. I was twice shy.



Question Number : 53 Question Id : 7368156923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one
which ‘correctly’ transforms the given sentence :

Being once bitten, | was twice shy. {Rewrite as a complex sentence}
Options:
, = | was once bitten and so was twice shy.

- w As | had been bitten once, | was twice shy.
- » Having been bitten once, | was twice shy.

4 » When | had been bitten once, | was twice shy.

Question Number : 54 Question Id : 7368156924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

He drove her mad and then drove her to the nearby asvlum. {Active to passive voice}
Options:
. + Shewas driven mad and then driven to the nearby asylum by him.

- % She had been driven mad and then was driven to the nearby asylum by him.
- % She was driven mad and then driven to the nearby asylum.

4 % She driven mad was driven to the nearby asylum by him.

Question Number : 54 Question Id : 7368156924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

He drove her mad and then drove her to the nearby asylum. {Active to

passive voice}
Options:
, « She was driven mad and then driven to the nearby asylum by him.



She had been driven mad and then was driven to the nearby asylum by
- % She was driven mad and then driven to the nearby asylum.

4 » She driven mad was driven to the nearby asylum by him.

Question Number : 55 Question Id : 7368156925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Police to drivers: “Keep off the pedestrian pathways. We might have to take you infto
custody if you drive there.” {Report this, probably for a newspaper;
Options:
Drivers were asked to keep off the pedestrian pathways and warned that they might be
, % taken into custody by the police there.

Drivers were asked to keep off the pedestrian pathways and warned that if they drove there

- % they might be taken into custody by the police there.

The police asked the drivers to keep off the pedestrian pathways and warned them that
-  they might be taken into custody if they drove there.

Drivers were told to keep off the pedestrian pathways and told that else they will be taken

4 % into custody.

Question Number : 55 Question Id : 7368156925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence: which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

Police to drivers: “Keep off the pedestrian pathways. We might have to
take you into custody if you drive there.” {Report this, probably for a
newspaper}

Options:
Drivers were asked to keep off the pedestrian pathways and warned that

, = they might be taken into custody by the police there.

Drivers were asked to keep off the pedestrian pathways and warned that

., w If they drove there they might be taken into custody by the police there.



The police asked the drivers to keep off the pedestrian pathways and

5  Wwarned them that they might be taken into custody if they drove there.

Drivers were told to keep off the pedestrian pathways and told that else

4 » they will be taken into custody.

Question Number : 56 Question Id : 7368156926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicised:

Searching for their daughter. the parents found her in a hospital but in a place where dead
bodies are kept for identification.

Options:

, w Searching for their daughter. the parents found her in a hospital but in ICU.

-~ % Searching for their daughter. the parents found her in a hospital but in the out-patient ward.
- » Searching for their daughter. the parents found her in a hospital but in a general ward.

4 « Searching for their daughter. the parents found her in a hospital but in the mortuary.

Question Number : 56 Question Id : 7368156926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or

segments in italics. Choose the appropriate ONE WORD substitutes for

the phrases and clauses Jjtalicised

Searching for their daughter, the parents found her in a hospital but in a

place where dead bodies are kept for identification.
Options:
Searching for their daughter, the parents found her in a hospital but in

{ 4 BE,
Searching for their daughter, the parents found her in a hospital but in the

> % out-patient ward.

Searching for their daughter, the parents found her in a hospital but in a

- » general ward.

Searching for their daughter, the parents found her in a hospital but in the

4  Mmortuary.



Question Number : 57 Question Id : 7368156927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicised:

The Vice-Chancellor resigned as he had tried fo pass off semebody’s work as his own.
Options:
, + The Vice-Chancellor resigned as he had tried to plagiarize.

> % The Vice-Chancellor resigned as he had tried to copy a work.
5 % Ihe Vice-Chancellor resigned as he had tried to imitate a work.

4 % The Vice-Chancellor resigned as he had tried to sell somebody’s work

Question Number : 57 Question Id : 7368156927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or

segments in italics. Choose the appropriate ONE WORD substitutes for

the phrases and clauses Jjtalicised

The Vice-Chancellor resigned as he had tried fo pass off somebody’s
work as his own.

Options:

, « The Vice-Chancellor resigned as he had tried to plagiarize.

. » The Vice-Chancellor resigned as he had tried to copy a work.

- » Ihe Vice-Chancellor resigned as he had fried to imitate a work.

4 » The Vice-Chancellor resigned as he had fried to sell somebody’'s work

Question Number : 58 Question Id : 7368156928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words. phrases or segiments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicised:

There was no danger that the famous actor-prisoner would violate the pledge given by him
Jor temporary release and escape.

Options:

, % There was no danger that the famous actor-prisoner would run away.
- % There was no danger that the famous actor-prisoner would jump bail.
- « There was no danger that the famous actor-prisoner would use his parole to escape.

4, % There was no danger that the famous actor-prisoner would break his promise.



Question Number : 58 Question Id : 7368156928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or

segments in jitalics. Choose the appropriate ONE WORD substitutes for

the phrases and clauses Jitalicised

There was no danger that the famous actor-prisoner would violate the

pledge given by him for temporary release and escape.
Options:
, = There was no danger that the famous actor-prisoner would run away.

. » There was no danger that the famous actor-prisoner would jump bail.

There was no danger that the famous actor-prisoner would use his parole

- 10 escape.

There was no danger that the famous actor-prisoner would break his

4 % promise.

Question Number : 59 Question Id : 7368156929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words. phrases or segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicised:

Govinda released his own life history written by himself in a special function.
Options:
, w» Govinda released his biography in a special function.

- % Govinda released his novel in a special function.

- % Govinda released the history written by him in a special function.

4  Govinda released his autobiography in a special function.

Question Number : 59 Question Id : 7368156929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or

segments in /talics. Choose the appropriate ONE WORD substitutes for

the phrases and clauses Jjtalicised

Govinda released his own life history written by himself in a special

function.



Options:

, » Govinda released his biography in a special function.

, » QGovinda released his novel in a special function.

- » QGovinda released the history written by him in a special function.

4 w Govinda released his autobiography in a special function.

Question Number : 60 Question Id : 7368156930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words. phrases or segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicised:

A famous star had decided rather than paying allowance to her husband on legal
separation, she would stay in the bad marriage for a while.

Options:
A famous star had decided rather than paying ransom. she would stay in the bad marriage
1 « for a while.

A famous star had decided rather than paying alimony. she would stay in the bad marriage
> % for a while.
A famous star had decided rather than paying an allowance. she would stay in the bad

5 % marriage for a while.

A famous star had decided rather than paying fines. she would stay in the bad marriage for
4 % awhile.

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksis being awarded to all candidates.

Question Number : 60 Question Id : 7368156930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words, phrases or

segments in /talics. Choose the appropriate ONE WORD substitutes for
the phrases and clauses Jjtalicised

A famous star had decided rather than paying allowance to her husband

on legal separation, she would stay in the bad marriage for a while.
Options:
A famous star had decided rather than paying ransom, she would stay in

, « the bad marriage for a while.

A famous star had decided rather than paying alimony, she would stay in
> » the bad marriage for a while.



A famous star had decided rather than paying an allowance, she would

5 » stay in the bad marriage for a while.

A famous star had decided rather than paying fines, she would stay in the

4 » bad marriage for a while.

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 61 Question Id : 7368156931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Following sentence is divided into four parts, and is labelled a. b, c. and d. One of these
has an error. Choose the part that has the error:

Rather than / to pay / the taxi fare, / he walked home.
A B c D

Options:
1 % A
2o B
3 % C
4 % D

Question Number : 61 Question Id : 7368156931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Following sentence is divided into four parts, and is labelled a, b, ¢, and

d. One of these has an error. Choose the part that has the error:

Rather than / to pay / the taxi fare, / he walked home.
A B C D

Options:

1 % A
>« B
3. % C
4% D

Question Number : 62 Question Id : 7368156932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence is divided into four parts. and is labelled a. b. ¢, and d. One of these
has an error. Choose the part that has the error:

The 17th and 18th centuries’ obsessed/ with / classic ideals.
A B C D
Options:



1% A
2.« B
3. % C
4. % D

Question Number : 62 Question Id : 7368156932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence is divided into four parts, and is labelled a, b, ¢, and

d. One of these has an error. Choose the part that has the error:

The 17th and 18th centuries/ obsessed/ with / classic ideals.
A B C D

Options:

1w A
>v B
2 % C
4 % D

Question Number : 63 Question Id : 7368156933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence 1s divided mto four parts. and is labelled a. b. ¢. and d.
One of these has an error. Choose the part that has the error:

The bench observed / that compassion for animals /should not effect /rights of human beings.
A B & D

Options:

1 ® A

E.WB

3¢ C
4 % D

Question Number : 63 Question Id : 7368156933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Following sentence is divided into four parts, and is Iabelled a, b,

¢, and d. One of these has an eror. Choose the part that has the error:
The bench observed / that compassion for animals /should not effect / rights of human beings.

A B C D

Options:

1_%#\



> % B
3¢ C
4% D

Question Number : 64 Question Id : 7368156934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence is divided into four parts, and is labelled a. b. ¢, and d.
One of these has an error. Choose the part that has the error:

Without human-induced climate change, /recent hot summers and years /should/not have occurred.
A B & D

Options:
1 % A
o W B
3¢ C
4 % D

Question Number : 64 Question Id : 7368156934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence 1s divided into four parts, and is labelled a, b,

¢, and d. One of these has an error. Choose the part that has the error:
Without human-induced climate change, /recent hot summers and years /should/not have occurred.
A B C D

Options:

1.%#\
E_WB

3¢ C
4% D

Question Number : 65 Question Id : 7368156935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence i1s divided into four parts. and is labelled a. b. c. and d. One of these
has an error. Choose the part that has the error:

The sun went / entirely / black / in a broad arc.

A B C D
Options:
1 ® A

E_WB

3¢ C



4 % D

Question Number : 65 Question Id : 7368156935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Following sentence is divided into four parts, and is labelled a, b, ¢, and

d. One of these has an error. Choose the part that has the error:

The sun went / entirely / black / in a broad arc.
A B C D

Options:

l_ﬁﬁt
2_335

3¢ C
4 % D

Question Number : 66 Question Id : 7368156936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms/proverbs by choosing the correct option
given:

April showers May flowers.

Options:
1 ® come. as

-  bring: forth

5 % talke: over

4 % give; way to

Question Number : 66 Question Id : 7368156936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms/proverbs by choosing the

correct option given:

April showers May flowers.

Options:
1 % come; as

.  bring; forth
- » take; over
4 » give; way to



Question Number : 67 Question Id : 7368156937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms/proverbs by choosing the correct option
given:

Don't cut your nose spite vour face.
Options:

L % of: for

5  Offito

- % Off: too

4 % Oofito

Question Number : 67 Question Id : 7368156937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms/proverbs by choosing the

correct option given:

Don't cut your nose spite your face.

Options:
, = of; for
-  Off; to

- # Off; too

4 = Of; to

Question Number : 68 Question Id : 7368156938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms/proverbs by choosing the correct option
given:

Evervone wants heaven but nobody wants ;
Options:
. # toleaveto: to die

> o togoto; to die

- » togetto:todying

4 % tocome to: to die

Question Number : 68 Question Id : 7368156938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blanks with the correct form of idioms/proverbs by choosing the
correct option given:

Everyone wants ____ heaven but nobody wants 4
Options:
, = 1o leave to; to die

- « to go to; to die
- » to get to; to dying

4, % to come to; to die

Question Number : 69 Question Id : 7368156939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms/proverbs by choosing the correct option
given:

He who fights and runs , may live to fight day.
Options:
, w away: other

> of away. another

5 % away:one

4 % off:a

Question Number : 69 Question Id : 7368156939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms/proverbs by choosing the

correct option given:

He who fights and runs , may live to fight day.

Options:
, = away; other

-  away: another

. % away; one

4 = Off, a

Question Number : 70 Question Id : 7368156940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks with the correct form of idioms/proverbs by choosing the correct option
given:

When the cat's the mice plav.
Options:
| away: will

- % away:can
5 % off: will
4 8 off: can

Question Number : 70 Question Id : 7368156940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms/proverbs by choosing the

correct option given:

When the cat's the mice play.
Options:
|« away; will

. % away; can
5 = Off; will

4 w Off; can

Question Number : 71 Question Id : 7368156941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in collocation}pair of words :

I prefer an interesting to a that bores.

Options:
, w eneny: foe

o  Virtue: vice
- u hght: quarrel

4 % fast: meal

Question Number : 71 Question Id : 7368156941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blanks by choosing one related {by association or Iin
collocation}pair of words :

| prefer an interesting to a that bores.
Options:
, = enemy; foe

-  Virtue; vice
- » fight; quarrel

4 % fast; meal

Question Number : 72 Question Id : 7368156942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in collocation}pair of words :

One can do more hurt than ten can do good.
Options:

| « enemy: friends
» w Miend: relatives
5 % Dboy:dogs

4 % scholar: students

Question Number : 72 Question Id : 7368156942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in

collocation}pair of words :

One can do more hurt than ten can do good.

Options:
|« enemy; friends

- w friend; relatives
- » boy; dogs

4 % scholar; students

Question Number : 73 Question Id : 7368156943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks by choosing one related {by association or in collocation}pair of words :

Beauty without grace is the without the ;
Options:

L% house: walls

o « hook: bait

5 % nhail: picture

, % face; powder

Question Number : 73 Question Id : 7368156943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in

collocation}pair of words :

Beauty without grace is the without the .
Options:
, » house; walls

-  hook; bait
- w hail; picture

4 » face; powder

Question Number : 74 Question Id : 7368156944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in collocation}pair of words :

A judge is a law who marks his own papers.

Options:
, % Officer: private

> % teacher: answer
-  student: examination

4 w clerk: official

Question Number : 74 Question Id : 7368156944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks by choosing one related {by association or in
collocation}pair of words :

A judge is a law who marks his own papers.

Options:
, = Officer; private

- % teacher; answer
5 o student; examination

4 w clerk; official

Question Number : 75 Question Id : 7368156945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in collocation}pair of words :

We can never be certain of our until we have faced i

Options:
, % hunger: food

5 % thirst; waster
g courage; danger

4 % health: doctor

Question Number : 75 Question Id : 7368156945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing one related {by association or in

collocation}pair of words :

We can never be certain of our until we have faced

Options:
, = hunger; food

- » thirst; waster
-  courage; danger

4 = health; doctor

Question Number : 76 Question Id : 7368156946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks in the following sentence by choosing the appropriate word from the
options given: pay attention to the context given:

John had an accident last vear and is still ill; he is

Options:

| « convalescing
> % lecovering
5 u treating

4, % medicating

Question Number : 76 Question Id : 7368156946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate

word from the options given; pay attention to the context given:

John had an accident last year and is still ill; he is .

Options:

, « convalescing

. » recovering

. w ftreating

, » medicating

Question Number : 77 Question Id : 7368156947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate word from the
options given: pay attention to the context given:

Robert can speak 18 languages: he is a :

Options:
, % linguist

- « polyglot
5 ® genius

4 % larity

Question Number : 77 Question Id : 7368156947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks in the following sentence by choosing the appropriate
word from the options given; pay attention to the context given:

Robert can speak 18 languages; he is a .

Options:
, = linguist

-  Polyglot

- » genius

4 w rarity

Question Number : 78 Question Id : 7368156948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate word from the
options given: pay attention to the context given:

He made sure that he was alive by reading announcements of deaths in
his daily newspaper: he has a strange fascination for .

Options:
1 % editorials

> % leaders
= % cartoons
4 + obituaries

Question Number : 78 Question Id : 7368156948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate

word from the options given; pay attention to the context given:

He made sure that he was alive by reading announcements of deaths
in

his daily newspaper: he has a strange fascination for ;

Options:
1 % editorials

- % leaders
= % cartoons

4 « Obituaries



Question Number : 79 Question Id : 7368156949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks in the following sentence by choosing the appropriate word from the
options given: pay attention to the context given:

The Formula One race-driver emploved someone regularly to drive his motor car:
funnily he needed a as he dreaded the traffic on the road.

Options:
1 « chauffeur

> % pilot

= % astronaut

4 % deputy

Question Number : 79 Question Id : 7368156949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate

word from the options given; pay attention to the context given:

The Formula One race-driver employed someone regularly to drive his

motor car; funnily he needed a as he dreaded the

traffic on the road.
Options:
1 « chauffeur

-, » pilot
- % astronaut
, » deputy

Question Number : 80 Question Id : 7368156950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks in the following sentence by choosing the appropriate word from the
options given: pay attention to the context given:

As someone who can use either hand with ease, Sobers is still an exception — a true
, indeed!

Options:
1 + ambidexter

> % sinister
5 % Ssportsman

4 % athlete



Question Number : 80 Question Id : 7368156950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks in the following sentence by choosing the appropriate

word from the options given; pay attention to the context given:

As someone who can use either hand with ease, Sobers is still an
exception - a true , indeed!

Options:
1 « ambidexter

N

> % Sinister

- % Sportsman

4 % athlete

Question Number : 81 Question Id : 7368156951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For each of the word given below. choose the one closest to it in its meaning:

Acquit

Options:
1 « EXonerate

> % Indict
% % Dismiss
4, w Clarify

Question Number : 81 Question Id : 7368156951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For each of the word given below, choose the one closest to it in its

meaning:
Acqguit

Options:
1 « Exonerate

N

- % Indict
= % Dismiss
4 w Clarify

Question Number : 82 Question Id : 7368156952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



For each of the word given below. choose the one closest to it in its meaning:

Gloomy
Options:
1 % Disastrous

5 o Depressed
=z % Dull

4 % Down

Question Number : 82 Question Id : 7368156952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For each of the word given below, choose the one closest to it in its

meaning:
Gloomy

Options:
1 % Disastrous

.  Depressed

5 = Dull

4 % Down

Question Number : 83 Question Id : 7368156953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For each of the word given below. choose the one closest to it in its meaning:

Constant
Options:
1 % Infinite

- % Continual
=z % Endless

4  Unchanging

Question Number : 83 Question Id : 7368156953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For each of the word given below, choose the one closest to it in its

meaning:
Constant

Options:
1 % Infinite



- % Continual
= # Endless

4 « Unchanging

Question Number : 84 Question Id : 7368156954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For each of the word given below. choose the one closest to if in its meaning;

Rebuke
Options:
1 « Censure

- % Caution
5 % Criticism
4 % Lecture

Question Number : 84 Question Id : 7368156954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For each of the word given below, choose the one closest to it in its

meaning:
Rebuke

Options:
1 « Censure

> % Caution
= % Criticism

4 % Lecture

Question Number : 85 Question Id : 7368156955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For each of the word given below. choose the one closest to it in its meaning:

Inclination
Options:
1 % Fondness

- % Mood
3 « Preference

, = Oblique

Question Number : 85 Question Id : 7368156955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



For each of the word given below, choose the one closest to it in its
meaning:

Inclination

Options:

1 % Fondness

- # Mood

2 « Preference

4 » Oblique

Question Number : 86 Question Id : 7368156956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose the antonym. or the word that would express the opposite meaning of. for the word
given:

Oblique
Options:
, « Straight
> #% Linear
=z % Vertical
4 % Direct

Question Number : 86 Question Id : 7368156956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym, or the word that would express the opposite

meaning of, for the word given:
Obligue

Options:
| Straight
> # Linear
= % Vertical
4 % Direct

Question Number : 87 Question Id : 7368156957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the antonym, or the word that would express the opposite meaning of. for the word
given:

Compliment



Options:
, % Whinge
> o Censure

5 » lmperfect

4 % Blame

Question Number : 87 Question Id : 7368156957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym, or the word that would express the opposite

meaning of, for the word given:

Compliment
Options:

, = Whinge
> « Censure

- » Imperfect

4 % Blame

Question Number : 88 Question Id : 7368156958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym. or the word that would express the opposite meaning of. for the word
given:

Short [temporal; time related]

Options:
. % Huge

> % Tall
5 Long
4 ® Blg

Question Number : 88 Question Id : 7368156958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym, or the word that would express the opposite

meaning of, for the word given:

Short [temporal; time related]

Options:
| ® Huge

. % Tall



-  Long

4 % Big

Question Number : 89 Question Id : 7368156959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the antonym. or the word that would express the opposite meaning of. for the word
given:

Concluide
Options:
1 % Unsettle

> % Disclose
=z % Induct

4 « Introduce

s,

Question Number : 89 Question Id : 7368156959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the antonym, or the word that would express the opposite

meaning of, for the word given:

Conclude
Options:
1 # Unsettle

- # Disclose
= % Induct

4 « Introduce

N

Question Number : 90 Question Id : 7368156960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym. or the word that would express the opposite meaning of. for the word
given:
)

Mar
Options:
1 # Create

~ % Protect
=z % Enable
4 « Make

Question Number : 90 Question Id : 7368156960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Choose the antonym, or the word that would express the opposite
meaning of, for the word given:
Mar

Options:
1 # Create

> % Protect
= % Enable
Make

4

4,

Question Number : 91 Question Id : 7368156961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of 4words. One word is not spelt correctly. Choose that word:

Options:
1 ® Ascent

> o Desent
= % Dissent
4 % Crescent

Question Number : 91 Question Id : 7368156961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of 4words. One word is not spelt correctly. Choose

that word:
Options:
1 % Ascent

- « Desent
= # Dissent

4 # Crescent

Question Number : 92 Question Id : 7368156962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of 4 words. One word is not spelt correctly. Choose that word:

Options:
1 % License

% Offence

% Science

bl M T

" Silense

s

Question Number : 92 Question Id : 7368156962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a set of 4 words. One word is not spelt correctly.

Choose that word:
Options:
1 & License

- # Offence
=z # Science

4 « Silense

Question Number : 93 Question Id : 7368156963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of 4 words. One word is not spelt correctly. Choose that word:
Options:

, % abrupt

> % Dbankrupt

5 o corupt

4 w disrupt

Question Number : 93 Question Id : 7368156963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of 4 words. One word is not spelt correctly.

Choose that word:
Options:
, = abrupt

- % bankrupt

-  corupt

4 w disrupt

Question Number : 94 Question Id : 7368156964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of 4 words. One word is not spelt correctly. Choose that word:
Options:

1 % inflammation

- % consumumation

5 % summation

4 + informmation

Question Number : 94 Question Id : 7368156964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a set of 4 words. One word is not spelt correctly.
Choose that word:

Options:
1 # Inflammation

- % consummation
=z # summation

4 + Informmation

Question Number : 95 Question Id : 7368156965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of 4 words. One word is not spelt correctly. Choose that word:
Options:

1 « saeltation

> % salutation
= % sanitation

4 % sedimentation

Question Number : 95 Question Id : 7368156965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of 4 words. One word is not spelt correctly.

Choose that word:
Options:
1 « saeltation

> % salutation
= % sanitation

4 % sedimentation

Question Number : 96 Question Id : 7368156966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below are 4 spellings one of them is correct. Choose the option that correctly spells
the word:
Options:

L % Geometery

5 % Optometery

- % lrigonometery

4 Cemetery

Question Number : 96 Question Id : 7368156966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below are 4 spellings one of them is correct. Choose the option

that correctly spells the word:
Options:
, » Geometery

> » Optometery
- » lrgonometery

4 v Cemetery

Question Number : 97 Question Id : 7368156967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below are 4 spellings one of them is correct. Choose the option that correctly spells
the word:
Options:
, % Adultry

5 % Monastry

5 x Glittry

4  Psychiatry

Question Number : 97 Question Id : 7368156967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below are 4 spellings one of them is correct. Choose the option
that correctly spells the word:

Options:

, = Adultry

- % Monastry
- » Glittry

4 « Psychiatry

Question Number : 98 Question Id : 7368156968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below are 4 spellings one of them is correct. Choose the option that correctly spells
the word:
Options:

1 % Tul
- % Ful
3 % Cul

4 +« Rule



Question Number : 98 Question Id : 7368156968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are 4 spellings one of them is correct. Choose the option

that correctly spells the word:
Options:
1 ® Tul

o Ful
2 ® Cul
Rule

\

4.

Question Number : 99 Question Id : 7368156969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below are 4 spellings one of them is correct. Choose the option that correctly spells
the word:
Options:

|« Veterinary

o % Visionery

- % Vvocabulery

4 % Voluntery

Question Number : 99 Question Id : 7368156969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are 4 spellings one of them is correct. Choose the option

that correctly spells the word:
Options:
| Veterinary

5 » Visionery
- » Vocabulery

4 » Voluntery

Question Number : 100 Question Id : 7368156970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below are 4 spellings one of them is correct. Choose the option that correctly spells
the word:
Options:

| v Alignment

- % Goverment



5 w Assigment

4 % Cantoment

Question Number : 100 Question Id : 7368156970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below are 4 spellings one of them is correct. Choose the option

that correctly spells the word:
Options:
, « Alignment

> % Goverment

- » Assigment

4 # Cantoment
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Question Number : 101 Question Id : 7368156971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which article of the Indian Constitution guarantees to all its citizens equality before law?

Options:
1 % Article 34

> % Article 24
3  Article 14
4 % Article 23

Question Number : 101 Question Id : 7368156971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 102 Question Id : 7368156972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If a minister of a state wishes to resign. whom should he submit his resignation?
Options:
, % Vice-president

- » High Court Judge

3 « Chief Minister
4 % Governor

Question Number : 102 Question Id : 7368156972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 103 Question Id : 7368156973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
According to Dr. B. R. Ambedkar. which article is the “heart and soul™ of the Indian
Constitution?
Options:
1 % Article 24

> % Article 14
5 « Article 32



4 % Article 19

Question Number : 103 Question Id : 7368156973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 104 Question Id : 7368156974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The words ‘Liberty. Equality and Fraternity” used in the Indian Constitution have been
taken from where?

Options:

, w» English Revolution

- % Russian Revolution

% % American Revolution

4 « French Revolution

Question Number : 104 Question Id : 7368156974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 105 Question Id ;: 7368156975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the constitution of which country has the Indian Constitution borrowed the concept
of ‘distribution of powers between centre and states’?

Options:



1 « Canada
> % United Kingdom

o % Germany

4 % Russia

Question Number : 105 Question Id : 7368156975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 106 Question Id : 7368156976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which parliamentary committee in India is generally chaired by a prominent member of
the opposition?

Options:
1 % Conunittee on Government Assurances

~ % Estimates Committee
- u Privileges Committee

4 + Public Accounts Committee

Question Number : 106 Question Id : 7368156976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 107 Question Id : 7368156977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



How many articles were there in the Indian Constitution at the time of commencement?

Options:
|« 395

> % 495
3 % 360
4 % 500

Question Number : 107 Question Id : 7368156977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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. % 500

Question Number : 108 Question Id : 7368156978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is NOT a political right according to the Indian Constitution?

Options:
, = Right to petition

- w Right against exploitation
- % Right to vote

4  Right to property

Question Number : 108 Question Id : 7368156978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 109 Question Id : 7368156979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



According to which article of the Indian Constitution the executive power of a state 1s
vested with the Governor?

Options:

1 « Article 154

- % Article 254
3 % Article 354
4 % Article 294

Question Number : 109 Question Id : 7368156979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 110 Question Id : 7368156980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who chaired the first session of the Indian constituent assembly?

Options:

1 % Dr. B. R. Ambedkar

> « Dr. Sachidanand Sinha
5 % DI Rajendra Prasad
4 # Jawaharlal Nehru

Question Number : 110 Question Id ;: 7368156980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 111 Question Id : 7368156981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For contributions towards which field is the Shanti Swarup Bhatnagar Prize given?

Options:
1 # Literature

o  Science and Technology

= # Peace

4 % Social Service

Question Number : 111 Question Id : 7368156981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 112 Question Id : 7368156982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which Indian film actor was invited to give away one of the awards at the gsth Academy
Awards (Oscar) 20167

Options:

, % Aishwarya Rai
-  Priyanka Chopra
=z % Irrfan Khan

, % Anil Kapoor

Question Number : 112 Question Id : 7368156982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 113 Question Id : 7368156983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who played the role of Mahatma Gandhi in the film ‘Gandhi’ by David Attenborough?

Options:
1 % Harrison Ford

> # Richard Gere
= % Mel Gibson

4  BenKingsley

Question Number : 113 Question Id : 7368156983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 114 Question Id : 7368156984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which year was the International Gandhi Peace Prize mstituted?

Options:
1« 1995

> % 1948
2 % 1964
4 % 1984

Question Number : 114 Question Id : 7368156984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 115 Question Id : 7368156985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 115 Question Id : 7368156985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who in 1958 became the oldest recipient of Bharat Ratna award?

Options:
1 + Dhondo Keshav Karve
- % Jawaharlal Nehru

- % C.Rajagopalachari

4 % M. Visvesvaraya

Question Number : 116 Question Id : 7368156986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of the following award is given by UNESCO?
Options:
, « Kalinga Award

> % Arjuna Award

- % Magsaysay Award
4 % DBooker Prize

Question Number : 116 Question Id : 7368156986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 117 Question Id : 7368156987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who gives the ‘Medini Puraskar’ award?
Options:

, w Ministry of Urban Development

> % Ministry of Information and Broadcasting
- % Ministry of Finance

4  Ministry of Environment. Forest and Climate Change

Question Number : 117 Question Id : 7368156987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 118 Question Id : 7368156988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who won the Sahitya Academy Award for the book ‘The Mammaries of the Welfare
State’?
Options:
1 % Vikram Seth

- % Chetan Bhagat

=  Upamanyu Chatterjee

4 % Kiran Desai

Question Number : 118 Question Id ;: 7368156988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 119 Question Id : 7368156989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following awards is known as the ‘Alternative Noble Prize’?
Options:
, « The Right Livelihood Award

-~ % Templeton Prize
- % Kalinga Award

, w Dronacharya Award

Question Number : 119 Question Id : 7368156989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 120 Question Id : 7368156990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who was the first recipient of World Food Prize?

Options:
1 % B.R.Barwale

> « DMLS. Swaminathan
= % Har Gobind Khorana
, % Verghese Kurien

Question Number : 120 Question Id : 7368156990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 121 Question Id : 7368156991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who wrote the famous poem ‘Subh-e-Azadi’?

Options:
1 % Mir Taqi Mir
- % DBismil Azimabadi

5 % Allama Igbal

4 « Faiz Ahmed Faiz

Question Number : 121 Question Id : 7368156991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 122 Question Id : 7368156992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following Hindi movies is based on a novel written by Chetan Bhagat?

Options:

1 % Airlift
- % Brothers
= % PK

4 « 2 states

Question Number : 122 Question Id : 7368156992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 123 Question Id : 7368156993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which one of the following is the poetic work of Harivansh Rai Bachchan?

Options:

, % Neerja

> « Madhukalash
= % Saket

4 % Kamayani

Question Number : 123 Question Id : 7368156993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 124 Question Id : 7368156994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The movie ‘Blue Umbrella’ is based on a novel written by who among the following?
Options:

, = V.S.Naipaul
> # Vikram Seth
= « Ruskin Bond

4 % Robin Sharma

Question Number : 124 Question 1d : 7368156994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 125 Question Id : 7368156995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the author of the famous Urdu novel ‘Umrao Jaan Ada’?
Options:

1 % Mirza Ghalib

> % Salman Rushdie
= # Taslima Nasreen

4 +« Mirza Hadi Ruswa

Question Number : 125 Question Id : 7368156995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 126 Question Id : 7368156996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who presents the Jnanpith Award for contribution in Indian literature?

Options:
, % Ministry of Culture
-~ % Sahitya Academy

-  Bharatiya Tnanpith

, % Ministry of Human Resource Development

Question Number : 126 Question Id ;: 7368156996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 127 Question Id : 7368156997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The autobiography of the famous Ornithologist Salim Ali is titled as?

Options:
, w Flying Birds

-  [IheFall of a Sparrow
= % My Language of Birds

4 % Birds and Me

Question Number : 127 Question Id : 7368156997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 128 Question Id : 7368156998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who wrote the classic Hindi novel ‘Godaan’?
Options:

1+« Munshi Premchand

- % Harivansh Rai Bachchan
= % Mahadevi Varma

4 % Bhisham Sahni

Question Number : 128 Question Id : 7368156998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 129 Question Id : 7368156999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the book ‘An Idea of Justice’?
Options:

1 % Girish Karnad

5 of Amartya Sen

- % Jhumpa Lahiri

4 % Amitav Ghosh

Question Number : 129 Question Id : 7368156999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 130 Question Id : 7368157000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following newspapers was set up by freedom fighter Lokmanya Tilak?

Options:

1 « Kesari

> % Hind Swaraj
5 % Dainik Jagran
4 % Sudharak

Question Number : 130 Question Id : 7368157000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 131 Question Id : 7368157001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ancient martial art ‘Kalaripayattu’ originated in which Indian state?

Options:
, % Manipur

> % Meghalaya

= % Tamil Nadu

4 « Kerala

Question Number : 131 Question Id : 7368157001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 132 Question Id : 7368157002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is not a tributary of the river Ganga?

Options:
1 ® Yamuna

- % Gandak
3 % Kosi
4 « DBeas

Question Number : 132 Question Id : 7368157002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 133 Question Id : 7368157003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is an Indo-Aryan language?

Options:
1 « Urdu

> % Telugu
=z % Sindhi

4 % Tamil

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 133 Question Id : 7368157003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 134 Question Id : 7368157004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Subramanya Bharathi. the famous freedom fighter and poet. wrote poetry in which of the
following languages?

Options:
1 « Tamil

> % Telugu

- » Malayalam

4 % Kannada



Question Number : 134 Question Id : 7368157004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 135 Question Id : 7368157005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In how many states of India is Telugu the major language?

Options:
1 # 4

2_233

3 ®

ra -

4.V

Question Number : 135 Question Id : 7368157005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 136 Question Id : 7368157006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which domestic cricket league in India uses the tag line ‘India Ka Tyohar’?
Options:

, + Indian Premiere League

-~ % Ranji Trophy

- » Irani Trophy

4 % Deodhar trophy



Question Number : 136 Question Id : 7368157006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 137 Question Id : 7368157007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Whose birth anniversary is observed as ‘Engineer’s Day” in India?
Options:

1 % Shalkuntala Devi

- % Sir Arthur Cotton
z % AP.J. Abdul Kalam
4w M. Visvesvaraya

Question Number : 137 Question Id : 7368157007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 138 Question Id : 7368157008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which festival marks the beginning of a new year in some parts of India?

Options:
1 #® Holi

> # Dhan Teras
% « Gudi Padwa

4 % Diwali



Question Number : 138 Question Id : 7368157008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 139 Question Id : 7368157009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Dadasaheb Phalke produced which of the following movies?

Options:
1 % Gandhi

> % Bhakt Prahlad
z % Devdas
4 + Raja Harishchandra

Question Number : 139 Question Id : 7368157009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 140 Question Id : 7368157010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which of the following Indian states the ‘Hornbill Festival® is held annually?

Options:
1 % Kerala

> % Mizoram

-  Nagaland

4 % Maharashtra



Question Number : 140 Question Id : 7368157010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 141 Question Id : 7368157011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What was the first cabinet portfolio held by Late Indira Gandhi?

Options:

1 % Defence

- % External Affairs
= % Home

4 Information and Broadcasting

Question Number : 141 Question Id ;: 7368157011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:
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Question Number : 142 Question Id : 7368157012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Under which of the following plans was the constituent assembly established?
Options:

1 « Cabinet Mission Plan

> % Cripp’s Mission

- % Mountbatten plan

, % Indian Independence Act 1947



Question Number : 142 Question Id : 7368157012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 143 Question Id : 7368157013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:
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Question Number : 143 Question Id : 7368157013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many schedules are there in the Indian Constitution?

Options:
1 # Four

> % Nine
3 « Twelve
4 = Eight

Question Number : 144 Question Id ;: 7368157014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hurricane Lamyp is the political symbol of which political party in India?

Options:
. + Rashtriya Janata Dal

- % Bahujan Samaj Party

z % Jharkand Mukti Morcha

, % Nationalist Congress Party

Question Number : 144 Question Id ;: 7368157014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 145 Question Id : 7368157015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tarun Gogoi is the longest serving chief minister of which Indian state?

Options:

1 % Bihar

o o Assam

3 #% Uttar Pradesh
4 = Rajasthan

Question Number : 145 Question Id : 7368157015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 146 Question Id : 7368157016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the present Chief minister of Gujarat?
Options:

, « Anandiben patel

> % Amit Shah

%z % Vasuben Trivedi

, % Shankersinh Vaghela

Question Number : 146 Question Id ;: 7368157016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 147 Question Id : 7368157017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present chairperson of Shiv Sena?
Options:

, = Raj Thackerey

-  Uddhav Thackerey
- % Bal Thackerey

4 = Aditya Thackerey

Question Number : 147 Question Id ;: 7368157017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 148 Question Id : 7368157018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which former Prime Minister of India is often referred to as the ‘Father of Indian
Economic reforms’?

Options:

1 « P.V.Narasimha Rao

N

- % Rajiv Gandhi

z % H.D.Deve Gowda
V.P. Singh



Question Number : 148 Question Id : 7368157018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 149 Question 1d : 7368157019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Who was the Prime Minister of India during Kargil War?
Options:

1 % H.D.Deve Gowda

- % Manmohan Singh

-  Atfal Bihari Vajpayee

4 % Indira Gandhi

Question Number : 149 Question Id : 7368157019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 150 Question Id : 7368157020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which constituency does Prime Minister Narendra Modi represent in Lok Sabha?

Options:

1 « Varanasi
> % Vadodara
= % Surat

4 % Ahmedabad



Question Number : 150 Question Id : 7368157020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 151 Question Id : 7368157021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the owner of the ‘Jaipur Pink Panthers” team in the Pro Kabaddi League?

Options:
1 % Hrithik Roshan

> % Salman Khan
= % Shah Rukh Khan
4 + Abhishek Bachchan

Question Number : 151 Question Id ;: 7368157021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 152 Question Id : 7368157022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which is the new IPL cricket team that was launched in 20167
Options:

. « Gujarat Lions

> % Chennai Super Kings
5 % Sunrisers Hyderabad

4 % Mumbai Indians



Question Number : 152 Question Id : 7368157022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 153 Question Id : 7368157023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the Chief Election Commissioner of India?
Options:

1 % R.K. Mathur

5 « Nasim Zaidi
5 % S.Y. Quraishi
, % Pradeep Kumar Sinha

Question Number : 153 Question Id : 7368157023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 154 Question Id : 7368157024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the current Chairperson of the National Commission of Women?

Options:
1 % Smriti Irani
> % Sushma Swaraj

5 o Lalitha Kumaramangalam



, % Jayanti Patnaik

Question Number : 154 Question Id ;: 7368157024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 155 Question Id : 7368157025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What is the name of the latest version of Android update?

Options:
, % Jellybean

> « Marshmallow
z % Kitkat

4 w Froyo

Question Number : 155 Question Id : 7368157025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

USIOS HUST & HEMHT HEFIOT &7 ATH &7 272
Options:

-GG
> « AT
- » e &<
4 % I

Question Number : 156 Question Id : 7368157026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Indian Super League is a domestic tournament associated with which game?

Options:
1 +« Football

> % Badminton

= % Lawn Tennis



4 % Cricket

Question Number : 156 Question Id : 7368157026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 157 Question Id : 7368157027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What do the five rings in the Olympic Games symbol represent?
Options:
, w Five major sports

> « Five continents

- % The top five winning nations

4 % Five founders of the Olympic Games

Question Number : 157 Question Id : 7368157027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 158 Question Id : 7368157028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which country has recently framed a new constitution?

Options:
, » England

> % USA



5  Nepal

4 % France

Question Number : 158 Question Id : 7368157028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 159 Question Id : 7368157029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who played the title role in the real-life based film ‘Mary Kom’?

Options:
, w Deepika Padukone
-  Priyanka Chopra
- % Parineeti Chopra

, % Vidya Balan

Question Number : 159 Question Id : 7368157029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 160 Question Id : 7368157030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which organization has won Gandhi Peace Prize for the year 20147
Options:

1 % Bhabha Atomic Research Centre



-  Indian Space Research Organization

= % National Institute of Nufrition
4 % Mahatma Gandhi Medical College & Research Institute

Question Number : 160 Question Id : 7368157030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 161 Question Id : 7368157031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which Indian brand uses the tag line ‘The taste of India™?

Options:
1 « Amul
> % Nestle

= % Dabur
4 # ITC

Question Number : 161 Question Id : 7368157031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 162 Question Id : 7368157032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the ex-officio chairman of NITT Aayog?
Options:

1 % President



> « Prime minister
= # Finance Minister

4 % Vice-president

Question Number : 162 Question Id : 7368157032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 163 Question Id : 7368157033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In terms of financial investments. FDI stands for?

Options:
, w» Forex Development Index

5 % Foreign Development Investment

-  Foreign Direct Investment

, % Foreign Direct Inquiry

Question Number : 163 Question Id : 7368157033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 164 Question Id : 7368157034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who wrote the book ‘Planned Economy for India’?
Options:

, w Arun Jaitley



- % Sardar Vallabhbhai Patel

- % Manmohan Singh

. M.Visvesvaraya

Question Number : 164 Question Id : 7368157034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 165 Question Id : 7368157035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Reserve Bank of India issues all currency notes except which of the following?
Options:
|  The one-rupee note

- % The five-hundred-rupee note

- % The thousand-rupee note

4 % The five-rupee note

Question Number : 165 Question Id : 7368157035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 166 Question Id : 7368157036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a measure of the standard of living in a country?
Options:

, w Literacy rate



5 #® Unemployment Rate

= % National Income
4 « Per Capita Income

Question Number : 166 Question Id : 7368157036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 167 Question Id : 7368157037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who formulates the financial policy (fiscal policy) in India?

Options:
; « Fmance Ministry

> #% Reserve Bank of India

5 % Planning Commission

, % National Development Council

Question Number : 167 Question Id : 7368157037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 168 Question Id : 7368157038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In taxation terminology. what does VAT stand for?
Options:

, = Value Against Tax



> « Value Added Tax
= # Value Authenticated Tax

4 % Value Audited Tax

Question Number : 168 Question Id : 7368157038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 169 Question Id : 7368157039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Indian state has the maximum number of agriculture-based industries?

Options:

, « Punjab

> % Kerala

z % Maharashtra
4 % Sikkim

Question Number : 169 Question Id : 7368157039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 170 Question Id : 7368157040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following committees was set up to recommend reforms in insurance sector?
Options:

1 % Pranab Sen Comunittee



- « Malhotra Committee
= # Venkatachaliah committee

4 % Venkataraman committee

Question Number : 170 Question Id : 7368157040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 171 Question Id : 7368157041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The famous Victoria Memorial Hall is located in?
Options:

1 #% New Delhi

- % Bengaluru

z % Chennai

4 « Kolkata

Question Number : 171 Question Id : 7368157041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 172 Question Id : 7368157042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which Indian state is also known as the ‘Land of Five Rivers’?
Options:



|  FPunjab

> % Maharashtra

- % Madhya Pradesh

, » Rajasthan

Question Number : 172 Question Id : 7368157042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 173 Question Id ;: 7368157043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The historic city Nalanda is in which Indian state?

Options:
, % West Bengal

- % Rajasthan
- % Madhya Pradesh

4 « Bihar

Question Number : 173 Question Id ;: 7368157043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 174 Question Id : 7368157044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where 1s the historic ‘Buland Darwaza® located?
Options:



, « Fatehpur Sikri

~ % Bhopal
5 % Chandigarh
4 ® Jaipur

Question Number : 174 Question 1d : 7368157044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 175 Question Id : 7368157045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The river Penna flows through which of the following states?

Options:
1 % Jammu & Kashmir

- % Kerala
= % Maharashtra

4 « Karnataka

Question Number : 175 Question Id : 7368157045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 176 Question Id : 7368157046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where is the Blackbuck National Park located?
Options:



1 % Sikkim
>  Gujarat

- » Rajasthan

4 % Karnataka

Question Number : 176 Question Id : 7368157046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 177 Question Id : 7368157047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Where is the ‘Dhudhwa’ National Park located?
Options:

1 # Karnataka

- % Madhya Pradesh
3 « Uttar Pradesh
4 % Andhra Pradesh

Question Number : 177 Question Id : 7368157047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 178 Question Id : 7368157048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On which river is the Hirakud project constructed?

Options:



, = Sutlej

> % Krishna
= % Godavari
4 « Mahanadi

Question Number : 178 Question Id : 7368157048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 179 Question 1d : 7368157049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 179 Question Id : 7368157049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
International Airports Authority of India and National Airports Authority were merged in
1995 to form?
Options:
1 % Air India

-  Airports Authority of India

5 w Civil Aviation Authority of India

4, % Aviation Academy of India

Question Number : 180 Question Id : 7368157050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The International Airport in Hyderabad is named after who among the following?
Options:
. « Rajiv Gandhi

> % N.T.Rama Rao
z % P.V.Narasimha Rao
4 % Indira Gandhi

Question Number : 180 Question Id : 7368157050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 181 Question Id : 7368157051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who among the following raised the ‘Free India Legion’ during the Indian freedom
movement?

Options:
1 + Subhash Chandra Bose

- % Bhagat Singh
5 % Sardar Udham Singh
, » Bal Gangadhar Tilak

Question Number : 181 Question Id : 7368157051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 182 Question Id : 7368157052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What was the government of India Act 1919 also known as?

Options:
. Montagu-Chelmsford Reforms

- % Minto-Morley reforms

=z % Mountbatten reforms

4 % Wavell Reforms

Question Number : 182 Question 1d : 7368157052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 183 Question Id : 7368157053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following played a key role in the integration of princely states after India
gained independence?

Options:
1 % Mahtma Gandhi

> « Vallabh Bhai Patel
z % Jawaharlal Nehru

4 % Lal Bahadur shastri

Question Number : 183 Question 1d : 7368157053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 184 Question Id : 7368157054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who built the ‘Jantar Mantar’® observatories in Jaipur and Delhi?

Options:
1 % Ibrahim Lodi

> % Shah Jahan
= % DBahadur Shah Zafar

4  Sawai Jai Singh

Question Number : 184 Question Id : 7368157054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 185 Question Id : 7368157055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Whose cowrt musician was Tansen?
Options:

1 « Akbar

- » Krishnadevaraya
= % DBabar

4 % Humayun

Question Number : 185 Question Id : 7368157055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 186 Question Id : 7368157056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chanakya was a royal advisor to which of the following ancient Indian King?
Options:

1 % Akbar

- % Samudragupta

= % Ashoka

4  Chandragupta Maurya

Question Number : 186 Question Id : 7368157056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 187 Question Id : 7368157057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which year was the Gandhi-Irwin pact was signed?

Options:
1« 1931

o B 1927
3 % 1936
4 % 1940

Question Number : 187 Question Id : 7368157057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 188 Question Id : 7368157058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
“You give me blood. I will give you freedom’ is the slogan of which freedom fighter of
India?
Options:
, » DBhagat Singh

> « Subhash Chandra Bose

- u Bal Gangadhar Tilak

4 % Lal Bahadur Shastri

Question Number : 188 Question Id : 7368157058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 189 Question Id : 7368157059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who captured Calcutta from British in 1756?

Options:
1 % Abul Fazal

> % Alauddin Khilji
5  Siraj-ud-Daula

, % Mohammad bin tuglaq

Question Number : 189 Question Id : 7368157059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 190 Question Id : 7368157060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Where is the tomb of Babar situated?
Options:

1 # New Delhi

> « Kabul

z % Karachi

4 % Dhaka

Question Number : 190 Question Id : 7368157060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 191 Question Id : 7368157061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Who is the only Indian cricketer to have taken all ten wickets in an innings of a test match?

Options:
, % Javagal Srinath

- % Kapil Dev

- » Harbhajan Singh

4 + Anil Kumble

Question Number : 191 Question Id : 7368157061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 192 Question Id : 7368157062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the oldest man to have won Grand Slam Tennis title?
Options:

1 % Somdev

- % Mahesh Bhupathi

3 « Leander Paes

4 % Viay Amritraj

Question Number : 192 Question Id : 7368157062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 193 Question Id : 7368157063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

With which game is the Benson and Hedges Cup associated?
Options:

1 % Football

> % Hockey

= % Lawn Tennis

4 « Cricket

Question Number : 193 Question Id ;: 7368157063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 194 Question Id : 7368157064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who won the first ICC Twenty-20 Cricket World Cup?

Options:
1« India
- % South Africa

z % Pakistan

4 % Australia

Question Number : 194 Question Id : 7368157064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 195 Question Id : 7368157065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following tournaments 1s NOT associated with Tennis?

Options:
1 % Wimbledon

> % French Open

5 « Durand Cup

, w Davis Cup

Question Number : 195 Question Id : 7368157065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 196 Question Id : 7368157066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With which sport is Anita Sood associated?

Options:
. = Gymnastics

5 ingh Swimming

- = Skying

4 % Golf

Question Number : 196 Question Id : 7368157066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 7368157067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present coach of the under-19 Indian cricket team?

Options:
1 + Rahul Dravid

-~ % VVS Laxman
- u virender Sehwag
, % Sanjay Manjrekar

Question Number : 197 Question Id : 7368157067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 198 Question Id : 7368157068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many tunes has India won the ICC Cricket World Cup in the 50-overs format?

Options:
1 % 3 times

> % 2 times
3z % 4 times
4 « 1time

Question Number : 198 Question Id : 7368157068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 199 Question Id : 7368157069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With which sport is Kunjarani Devi associated?
Options:

. e ifti
|« Weight lifting

> % DBoxing
5 % Athletics
4 % Badminton

Question Number : 199 Question Id : 7368157069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 200 Question Id : 7368157070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following countries has not qualified for the FIFA World Cup so far?

Options:

, = Spain

> « India

= % FIrance
4 % Japan

Question Number : 200 Question Id : 7368157070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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